MATH 260 - QUIZ #3 Name: 4]

Directions: Please show all work for maximum credit. This quiz is worth 16 points. Good
luck!

(4 points) 1. Use Cramer’s Rule to solve the following system of linear equations.
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2. Given the following vectors: i =(5,3,-2), v=(2,-4,1)
Evaluate the following.

(2 points) a. 5i-3v = 5 (5,3 -2) —3( 24 1)

—O5 1o~ b, 13,-3) = (1927 /3

(2 points) b. 3(u+2v) = 3 ( (£, 3 20+ 3(-3,"‘6")) |
= 3((53-2) +(4-82)= 3(%-% 0)= (37 -/3; 0)

(2 points) c. Find Z, where 2u+z =V
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b
(2 points) 3. Show why V = {[T c] eM,,

a,b,ce R} with the usual operations of addition
and scalar multiplication in A/, , is not a vector space
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(4 points) 4. Show that for any two vectors # =(u,,u,,u;) and ¥ (v,v,.v;) in R’
Uu+v=v+u.

- >
UV = (U, Uy 4 (4 Us, V3 )

(- ®, + V! Jr\/} vz 3
S (Vird by, va i)

(v, Vo, va) + lu, U, u3)
- =
= v+



